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Chapter 17—Managing Human Resources in Organizations
TRUE/FALSE

1.
Labor relations is the set of organizational activities directed at attracting, developing, and maintaining an effective workforce.
ANS:
F
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

2.
The effectiveness of the HR function does not have a substantial impact on the bottom-line performance of a firm.
ANS:
F
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

3.
Responsibility for HR activities is shared between the HR department and line managers.
ANS:
T
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Comp

4.
The intent of Title VII is to ensure that employment decisions are made on the basis of an individual's qualifications rather than on the basis of personal biases.
ANS:
T
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Comp

5.
Executive orders require all organizations to actively pursue affirmative action.
ANS:
F
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

6.
The Labor-Management Relations Act prohibits the President of the United States from preventing or ending a strike, even if it endangers national security.
ANS:
F
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

7.
The Americans with Disabilities Act applies to alcoholics, drug addicts, and AIDS patients.
ANS:
T
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

8.
Although employment-at-will has legal implications, its emergence as an issue is socially and politically driven.
ANS:
T
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

9.
Job descriptions contain duties, working conditions, tools, materials, and equipment used to perform the job.
ANS:
T
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

10.
Enterprise resource planning (ERP) systems generally include capabilities for measuring and managing the internal supply of labor in ways that best fit the needs of the organization.
ANS:
T
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

11.
One advantage of internal recruiting is its ripple effect because more people get promoted.
ANS:
F
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

12.
Assessment center procedures for selecting employees typically demonstrate low-content validity.
ANS:
F
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

13.
Predictive validation uses logic and job analysis data to establish that the selection device measures the exact skills needed for successful job performance.
ANS:
F
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

14.
Drug tests are becomingly increasingly popular as a selection technique.
ANS:
T
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Fact

15.
Most organizations provide regular training and development programs for managers and employees.
ANS:
T
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

TYP:
Def

16.
As training programs are being developed, the manager should set specific and measurable goals specifying what participants are to learn.
ANS:
T
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
Comp

17.
Ranking differs from rating in that it compares each employee with a fixed standard rather than comparison with other employees.
ANS:
F
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

TYP:
Def

18.
Miguel recently gave a great presentation. His boss is filling out her evaluation of Miguel; she keeps remembering the presentation. She is committing recency error.
ANS:
T
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

19.
When managers decide to pay the firm's administrative assistants above-average wages for the city in which the firm is located, they have made a wage-structure decision.
ANS:
F
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

20.
Salaries represent special compensation opportunities that are usually tied to performance.
ANS:
F
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

21.
A good compensation system can stimulate high performance at a cost reasonable for one's industry.
ANS:
T
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
Comp

22.
Fifty percent of the firm's employees must sign authorization cards before the National Labor Relations Board will conduct a union certification election.
ANS:
F
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

23.
A union can represent wage earners, but not salaried employees.
ANS:
F
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
Comp

24.
The best way to avoid having your employees vote to have a union is to treat them so that they do not feel the need for one.
ANS:
T
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
Comp

25.
The purpose of grievance procedures is to administer and enforce the labor agreement reached during collective bargaining.
ANS:
T
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

26.
The increasing use of knowledge workers has made human resources even more important.
ANS:
T
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
Comp

27.
Consultants, part-time workers, and temporary employees are all contingent workers.
ANS:
T
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
App

28.
Ed contracts with various engineering companies to work on specific jobs. When the jobs are concluded, he may begin work for another company or for the same company on a different job. Ed is an example of a contingent worker.
ANS:
T
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
App
MULTIPLE CHOICE

1.
Those activities directed at attracting, developing, and maintaining an effective workforce are called

	a.
	recruiting.

	b.
	selection.

	c.
	employee relations.

	d.
	labor relations.

	e.
	human resource management.


ANS:
E
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

2.
Given the environment in which organizations must function today, which of the following statements about human resource management (HRM) is FALSE?

	a.
	HRM should have an important place because of the complex legal environment.

	b.
	HRM should be a part of the strategic planning process.

	c.
	HRM should be left to line managers because they know their people best.

	d.
	HRM should be viewed as a means of significantly increasing productivity.

	e.
	Human capital reflects the organization's investment in attracting, retaining, and motivating an effective workforce.


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

3.
Which of the following labor regulations could have potentially prevented a 2006 mine accident in West Virginia that killed 11 miners?

	a.
	National Labor Relations Act

	b.
	Fair Labor Standards Act

	c.
	Labor-Management Relations Act

	d.
	Occupational Safety and Health Act

	e.
	Civil Rights Act of 1991


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

4.
A law proposed in Maine planned to deny the minimum wage to welfare recipients in jobs that they take as part of their work requirements. This proposal was in defiance of the

	a.
	National Labor Relations Act.

	b.
	Fair Labor Standards Act.

	c.
	Labor-Management Relations Act.

	d.
	Occupational Safety and Health Act.

	e.
	Civil Rights Act of 1991.


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

5.
Title VII of the 1964 Civil Rights Act did NOT prohibit discrimination on the basis of ____. A later act prohibited it.

	a.
	age

	b.
	race

	c.
	gender

	d.
	color

	e.
	national origin


ANS:
A
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

6.
Which of the following federal laws does NOT have a direct impact on human resource management?

	a.
	Americans with Disabilities Act

	b.
	Trademark Law Revision Act of 1988

	c.
	Fair Labor Standards Act

	d.
	Civil Rights Act of 1991

	e.
	Labor-Management Relations Act


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

7.
Title VII of the 1964 Civil Rights Act is enforced by

	a.
	the executive branch.

	b.
	the judicial branch.

	c.
	the Equal Employment Opportunity Commission.

	d.
	the press.

	e.
	the National Labor Relations Board.


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

8.
An employment test is judged to have a(n) ____ on minority applicants if the pass rate for the minority group is less than about 80 percent of the pass rate for the majority group members.

	a.
	adverse impact

	b.
	negative action

	c.
	negative disconfirmation

	d.
	contradictory result

	e.
	affirmative action


ANS:
A
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

9.
Employment tests that have been determined to have an adverse impact can be used as selection devices ONLY if they

	a.
	have been specifically approved by the Equal Employment Opportunity Commission.

	b.
	have been shown to predict success on the job.

	c.
	are protected by a grandfather clause that grants them an exemption.

	d.
	are covered by presidential executive order.

	e.
	continue to result in discriminatory hiring practices.


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

10.
The Age Discrimination in Employment Act

	a.
	prohibits discrimination against workers 18 to 40 years of age.

	b.
	is part of the 1964 Civil Rights Act.

	c.
	requires employers to have affirmative action plans.

	d.
	allows forced retirement of employees after age 65.

	e.
	outlaws discrimination against workers older than 40.


ANS:
E
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

11.
Passive nondiscrimination requires employers to

	a.
	meet hiring quotas.

	b.
	give all job applicants equal opportunity to be hired.

	c.
	try to make the composition of their labor force the same as the relevant labor market.

	d.
	give preference to minorities and women.

	e.
	have an affirmative action plan.


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

12.
Organizations holding federal contracts exceeding a certain dollar value must have affirmative action plans according to

	a.
	Title VII of the 1964 Civil Rights Act.

	b.
	the Labor-Management Relations Act (Taft-Hartley Act).

	c.
	the Fair Labor Standards Act.

	d.
	executive orders.

	e.
	ERISA.


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

13.
An African American surgeon on a Chicago hospital staff was admitted to the internship program because of his race, even though he had lower grades and test scores than other applicants. This acceptance, which was mandated by the government, indicates that the hospital used

	a.
	adverse impact.

	b.
	negative action.

	c.
	negative disconfirmation.

	d.
	contradictory result.

	e.
	affirmative action.


ANS:
E
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

14.
Legislation that places constraints on the selection of employees includes

	a.
	the Fair Labor Standards Act.

	b.
	Title VII of the Civil Rights Act.

	c.
	the Age Discrimination Act.

	d.
	Title VII of the Civil Rights Act and the Age Discrimination Act.

	e.
	All of these choices


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

15.
If you are required by the courts or other directives to have an affirmative action plan, which of the following actions must you take?

	a.
	Abide by the requirements of passive nondiscrimination in all hiring practices

	b.
	Actively recruit minorities so your labor force will eventually be the same as the relevant labor market

	c.
	Discharge current employees and hire minorities to create the required balance in your workforce

	d.
	Just ensure that everyone who applies for a job is given equal opportunity to be hired

	e.
	Discharge any employee who does not join the union within the prescribed time period


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

16.
The ____ requires payment of overtime to employees who work more than 40 hours per week.

	a.
	Equal Pay Act

	b.
	Workmen's Compensation Act

	c.
	Fair Labor Standards Act

	d.
	National Labor Relations Act (Wagner Act)

	e.
	Labor-Management Relations Act (Taft-Hartley Act)


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

17.
Which of the following actions would violate the intent of the Equal Pay Act?

	a.
	Refusing to hire women

	b.
	Paying a man more than a woman doing the same job because he had worked for the company longer than she

	c.
	Paying a man more than a woman doing the same work simply because he has qualifications she does not have

	d.
	Paying a woman less than a man doing the same work because she is the second wage earner in a dual-career family

	e.
	Using performance differences as justification for pay differences between men and women doing the same job


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

18.
Marty works at a call center. Last week he worked 48 hours. According to the ____, he should receive overtime for the time he worked in addition to his regular 40-hour shift.

	a.
	National Labor Relations Act

	b.
	Fair Labor Standards Act

	c.
	Labor-Management Relations Act

	d.
	Occupational Safety and Health Act

	e.
	Civil Rights Act of 1991


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

19.
Harriet has a drinking problem. After a drinking-related incident at work, she sought treatment. Courts are increasingly ruling that her condition is covered under the

	a.
	Equal Pay Act.

	b.
	Civil Rights Act.

	c.
	National Labor Relations Act.

	d.
	Americans with Disabilities Act.

	e.
	Female Discrimination Act.


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

20.
Darin, the human resources manager of a local firm, makes sure that the firm is paying men and women the same if they are doing the same job. The legal constraint that he is abiding by is the

	a.
	Equal Pay Act.

	b.
	Affirmative Action Act.

	c.
	National Labor Relations Act.

	d.
	various executive orders issued by the president.

	e.
	Female Discrimination Act.


ANS:
A
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

21.
Howard has a six month old son. Howard is thankful for the ____ every time he pushes a stroller down a ramp or has more space in a store. The act has helped a broad range of people.

	a.
	Occupational Safety and Health Act

	b.
	Civil Rights Act

	c.
	Fair Labor Standards Act

	d.
	National Labor Relations Act

	e.
	Americans with Disabilities Act


ANS:
E
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

22.
On which basis does current employment law permit an employer to pay different amounts to workers on the same job?

	a.
	Age

	b.
	Certain forms of handicap

	c.
	Nationality

	d.
	Performance

	e.
	Religious preference


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
Comp

23.
Eduardo developed brain cancer. His wife accompanied him to Boston where he received experimental surgery. The ability to leave her job and know that it would be hers when she returned was made possible by the

	a.
	Fair Labor Standards Act.

	b.
	National Labor Relations Act (Wagner Act).

	c.
	Family and Medical Leave Act of 1993.

	d.
	Labor Practices Act.

	e.
	Equal Pay Act.


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

24.
Which of the following labor laws increases management's rights during union organizing campaigns?

	a.
	Fair Labor Standards Act

	b.
	National Labor Relations Act (Wagner Act)

	c.
	Labor-Management Relations Act (Taft-Hartley Act)

	d.
	Labor Practices Act

	e.
	Equal Pay Act


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

25.
Which of the following laws gives the president the authority to seek a court injunction to force striking unions to go back to work for 80 days when, in the president's opinion, the strike endangers the health and safety of the nation?

	a.
	National Labor Relations Act (Wagner Act)

	b.
	Labor-Management Relations Act (Taft-Hartley Act)

	c.
	Presidential executive order

	d.
	Occupational Safety and Health Act

	e.
	National Defense Act


ANS:
B
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

26.
Which of the following laws requires management to bargain in good faith with the designated employee representatives?

	a.
	Management Practices Act

	b.
	Labor-Management Relations Act (Taft-Hartley Act)

	c.
	National Labor Relations Act (Wagner Act)

	d.
	Employee Security Act

	e.
	Sherman Antitrust Act


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

27.
While some employers are upset by regulations that set the legal limit on how far apart the risers on a ladder can be, OSHA safety standards are intended to

	a.
	prevent long-term health hazards for employees.

	b.
	provide uniform equipment for employee protection from excessive noise, air contaminants, and so on.

	c.
	prevent on-the-job accidents.

	d.
	collect data for determining hazardous or nonhazardous job classifications.

	e.
	gather data on a broad range of employee complaints concerning excessive dust, radiation, and so on.


ANS:
C
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

TYP:
Def

28.
A company that requires everyone working on a computer to use a gel hand rest would be in accordance with the

	a.
	National Labor Relations Act.

	b.
	Fair Labor Standards Act.

	c.
	Labor-Management Relations Act.

	d.
	Occupational Safety and Health Act.

	e.
	Civil Rights Act of 1991.


ANS:
D
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

29.
A beer company used ____ to fire an employee for drinking a competitor's beer in public. Courts are increasingly ruling against such a justification for firing an employee.

	a.
	employment-at-will

	b.
	affirmative action

	c.
	affirmative disconfirmation

	d.
	reactionary reinforcement

	e.
	progenitor laws


ANS:
A
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

TYP:
App

30.
You are reading a document with the following information: "Workers will work in an office environment using a computer. Some lifting will be involved but will not exceed five pounds." You are reading part of a job

	a.
	analysis.

	b.
	description.

	c.
	specification.

	d.
	design.

	e.
	requirement.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

31.
The systematic collection and recording of information about jobs in the organization is known as

	a.
	job evaluation.

	b.
	job analysis.

	c.
	job specification.

	d.
	staffing.

	e.
	the selection process.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

32.
Which of the following information is included in a job description?

	a.
	Qualifications required of the job incumbent

	b.
	Conditions under which the work is done

	c.
	Lists of skills

	d.
	Lists of abilities

	e.
	Required credentials


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

33.
You are reading a document that says that a job applicant must have a valid driver's license, be a citizen of the United States, and be available evenings and weekends. You are reading a

	a.
	classified ad.

	b.
	job analysis.

	c.
	job description.

	d.
	recruiting statement.

	e.
	job specification.


ANS:
E
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

34.
All of the following are steps in human resource planning EXCEPT

	a.
	job analysis.

	b.
	job evaluation.

	c.
	forecasting human resource supply.

	d.
	forecasting human resource demand.

	e.
	creating a plan for dealing with predicted shortfalls or overstaffing.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

35.
A commonly used technique for planning specific human resource requirements in higher-level positions is the

	a.
	labor regression analysis.

	b.
	skills inventory.

	c.
	performance appraisal system.

	d.
	replacement chart.

	e.
	career opportunity roster.


ANS:
D
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

36.
Sprint maintains a computerized spreadsheet of education, skills, experience, and career aspirations of its current employees. This is a

	a.
	labor regression analysis.

	b.
	skills inventory.

	c.
	performance appraisal system.

	d.
	replacement chart.

	e.
	career opportunity roster.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

37.
Cole, Inc. has determined that its forecast demand for middle managers is greater than its forecast supply. All of the following would be appropriate actions EXCEPT

	a.
	recruiting.

	b.
	extending the retirement date.

	c.
	attrition.

	d.
	promotion.

	e.
	cross-training.


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

38.
If overstaffing is expected, the main options are all EXCEPT which of the following?

	a.
	To transfer employees

	b.
	To not replace people who quit

	c.
	To encourage early retirement

	d.
	To limit production

	e.
	To lay people off


ANS:
D
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

39.
Which of the following is a potential area of concern for managers when they use internal sources to fill a vacant position?

	a.
	A drop in morale

	b.
	An increase in turnover

	c.
	The ripple effect

	d.
	Complaints from the union

	e.
	The loss of highly qualified employees


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

40.
Apple co-founder Steve Jobs resigned as CEO for health reasons. Tim Cook took over. Cook had been with Apple for 13 years. This promotion resulted in

	a.
	a drop in morale.

	b.
	an increase in turnover.

	c.
	the ripple effect.

	d.
	complaints from the union.

	e.
	the loss of highly qualified employees.


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

41.
In unionized firms, internal recruitment methods are

	a.
	required by the National Labor Relations Act (Wagner Act).

	b.
	usually required in the labor agreement.

	c.
	strictly a management prerogative.

	d.
	part of the labor contract only when seniority is not the basis for promotion.

	e.
	rarely, if ever, used.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

42.
Identifying current employees who would like to change jobs is accomplished by

	a.
	job posting.

	b.
	job analysis.

	c.
	internal recruiting.

	d.
	job evaluation.

	e.
	performance evaluation.


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

43.
The Hewlett Packard board discussed replacing the CEO with a board member. This is an example of

	a.
	internal recruiting.

	b.
	external recruiting.

	c.
	internal and external recruiting.

	d.
	want ads.

	e.
	forecasting demand.


ANS:
A
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

44.
An advantage of ____ is that they reach a wide audience and this allows minorities equal opportunity.

	a.
	private employment agencies

	b.
	executive search firms

	c.
	newspaper ads

	d.
	campus interviews

	e.
	gate hires


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

45.
Recruiters need to keep in mind the employment decision goes both ways, and the perspective employee is selecting a job. One of the best tools for getting a good match between the job and the person filling the job is to

	a.
	provide a realistic job description.

	b.
	conduct a realistic job preview.

	c.
	conduct an extensive preemployment testing program.

	d.
	do extensive work on validating selection devices.

	e.
	hire professional personnel interviewers.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

46.
Many college students work as interns over the summers. Some are offered employment upon graduation. Internships can be a(n)

	a.
	realistic job preview.

	b.
	gate-hire.

	c.
	job analysis.

	d.
	job content validation.

	e.
	assessment center.


ANS:
A
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

47.
Once the firm has developed a pool of applicants, the next step is

	a.
	tests.

	b.
	selection.

	c.
	revision of the skills inventory.

	d.
	interviews.

	e.
	validation.


ANS:
E
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

48.
The two basic approaches to validation are

	a.
	internal and external.

	b.
	integrated and differentiated.

	c.
	controlled and direct.

	d.
	centralized and decentralized.

	e.
	predictive and content.


ANS:
E
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

49.
A preemployment test that requires applicants to perform the same kinds of tasks as they will actually do on the job will have high

	a.
	administrative intensity.

	b.
	nominal validity.

	c.
	content validity.

	d.
	predictive validity.

	e.
	related validity.


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

50.
If you give a paper-and-pencil test to job applicants in your organization and then later do a correlation analysis to determine the relationship between success on the testing device and success on some measure of performance, you are determining

	a.
	content validity.

	b.
	affirmative action results.

	c.
	predictive validity.

	d.
	the adverse impact of the hire.

	e.
	test reliability.


ANS:
C
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

51.
Which of the following is a selection technique?

	a.
	Tests

	b.
	Interviews

	c.
	Assessment centers

	d.
	Application blanks

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

52.
A recent survey found false or inflated information in which of the following?

	a.
	Job applications

	b.
	Interviews

	c.
	Skills tests

	d.
	Assessment centers

	e.
	Drug tests


ANS:
A
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

53.
Interviews are sometimes poor predictors of success because of

	a.
	stress.

	b.
	structure.

	c.
	less structure.

	d.
	personality assessment.

	e.
	personal biases.


ANS:
E
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

54.
Selecting managerial employees sometimes involves a specially designed technique called

	a.
	a weighted application blank.

	b.
	an assessment center.

	c.
	an aptitude test.

	d.
	a job posting.

	e.
	management by objectives.


ANS:
B
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

TYP:
Def

55.
The California Highway Patrol Academy has all of its candidates for promotion attend a multiple-day evaluation session during which they undergo a battery of tests, interviews, and simulated work experiences. This is an example of

	a.
	an assessment center.

	b.
	a structured orientation process.

	c.
	a job analysis.

	d.
	external recruiting.

	e.
	attrition.


ANS:
A
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
App

56.
Which of the following would probably have the highest content validity?

	a.
	Assessment center exercise

	b.
	Personality test

	c.
	IQ test

	d.
	Achievement test

	e.
	Interview


ANS:
A
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

TYP:
Comp

57.
Perhaps the most important consideration in developing a training plan is to

	a.
	select who will be trained.

	b.
	select the method of training to be used.

	c.
	determine the training budget.

	d.
	hire the trainer.

	e.
	select the content.


ANS:
E
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

TYP:
Def

58.
The most appropriate training technique for PepsiCo to teach its employees to make ethical decisions would be

	a.
	web-based training.

	b.
	case discussion groups.

	c.
	on-the-job training.

	d.
	assigned readings.

	e.
	programmed instruction.


ANS:
B
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

59.
When a swimmer does kicking drills to focus on a specific technique, rather than on the overall swimming speed, it is similar to ____ training, which allows employees to focus on safety rather than productivity.

	a.
	simulation

	b.
	behavior

	c.
	lecture

	d.
	vestibule

	e.
	programmed


ANS:
D
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

60.
Ken is a newly hired police officer. He has been assigned to ride along with a more experienced officer to learn about paperwork, how to handle accident scenes, how to deal with domestic disputes, and other duties that he will be expected to perform. The police department that hired Ken is using ____ training.

	a.
	simulation

	b.
	behavior modeling

	c.
	lecture

	d.
	on-the-job

	e.
	programmed instructional


ANS:
D
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

61.
Total sales, budget expenditure, and the number of claims processed are all examples of

	a.
	training methods.

	b.
	predictive validation methods.

	c.
	content validation methods.

	d.
	objective performance appraisal criteria.

	e.
	judgmental performance appraisal criteria.


ANS:
D
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

62.
Steve sells traffic signs and tape to municipalities. In his region he has a few affluent communities that order the best items. Carla has even more communities in her region that are affluent, and she sells even more items. If their supervisor does not use some adjustment factor to account for the differences in regions when evaluating the performance of the two workers, the evaluations will exhibit

	a.
	adverse impact.

	b.
	halo effect.

	c.
	recency effect.

	d.
	opportunity bias.

	e.
	global bias.


ANS:
D
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

63.
Which of the following is NOT an objective measure of performance appraisal?

	a.
	Number of sales dollars generated

	b.
	Number of units produced

	c.
	Ranking of coworkers by their superior

	d.
	Quality index based on the number of rejects

	e.
	Number of sales calls made


ANS:
C
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

64.
GE requires managers to fire the bottom 10% of employees each year. GE is using

	a.
	a judgmental method of performance appraisal.

	b.
	an objective measure of performance appraisal.

	c.
	a ranking system of performance appraisal.

	d.
	management by objectives.

	e.
	role-playing and case discussion groups.


ANS:
C
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

65.
Performance appraisals are a formal assessment of employees that should be conducted regularly because they

	a.
	validate selection methods.

	b.
	establish a basis for rewards.

	c.
	provide feedback to help employees improve performance.

	d.
	help determine training and development needs.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

TYP:
Def

66.
One of the major disadvantages associated with the so-called special performance test is that it

	a.
	is a poor measure of worker ability.

	b.
	fails to measure the employees' work motivation.

	c.
	fails to provide standard evaluation conditions for the workers.

	d.
	is subject to recency effect.

	e.
	is prone to opportunity bias.


ANS:
B
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
Comp

67.
One of the major disadvantages of ranking as an appraisal method is that it

	a.
	cannot be used to compare people in different work groups.

	b.
	does not measure the employees' motivation to use their ability on a daily basis.

	c.
	has opportunity bias.

	d.
	compares employees to a fixed standard.

	e.
	creates excessive competition among employees.


ANS:
A
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
Comp

68.
Your company uses a performance evaluation device that contains an item that looks like Table 1. What kind of evaluation device is this?

[image: image1.png]Table 1
PRODUCTIVITY

Worker meets or exceeds standards for quality and quantity.

Always Usually Sometimes Seldom Never





	a.
	Behaviorally-anchored rating scale

	b.
	Ranking scale

	c.
	Graphic rating scale

	d.
	Equal interval rating scale

	e.
	Special test scale


ANS:
C
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

69.
Table 2 is one item out of your performance evaluation. What kind of evaluation device does your company use?
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Table 2

OB SPECIALTY: Sales Representative

— Almost always places accurate orders.

— Orders may contain 1-3 minor errors.

— Orders often contain numerous minor errors.
— Orders may contain 1-3 major errors.

— Orders often contain numerous major errors.
—  Orders typically require major rework.





	a.
	Behaviorally-anchored rating scale

	b.
	Ranking scale

	c.
	Graphic rating scale

	d.
	Equal interval rating scale

	e.
	Special test scale


ANS:
A
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

70.
Jan is an average salesperson. She tends to make her sales quota four out of every five months. Last month she closed the largest sale that her company has ever made in its history. Even though there is no indication that she is now an exceptional salesperson, her supervisor ranked her as one. This is an example of how a ____ error can influence a performance appraisal.

	a.
	halo

	b.
	leniency

	c.
	recency

	d.
	frequency

	e.
	vestibule


ANS:
C
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

71.
George is an average cook in the Marine Corps. However, when his unit deploys, food becomes especially important. At the end of deployment, George is rated above marines in other specialties. George benefits from

	a.
	leniency.

	b.
	a central tendency error.

	c.
	a halo error.

	d.
	a recency error.

	e.
	a ranking error.


ANS:
C
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
App

72.
Often the most difficult part of performance appraisal is

	a.
	feedback.

	b.
	compensation.

	c.
	rating actual performance.

	d.
	job evaluation.

	e.
	management by objectives.


ANS:
A
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

TYP:
Comp

73.
In human resource management terminology, the bonus that a manager may receive is referred to as

	a.
	benefits.

	b.
	compensation.

	c.
	the wage and benefit package.

	d.
	perquisites.

	e.
	remuneration.


ANS:
B
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

74.
A 360 degree feedback appraisal gets input from the

	a.
	boss, subordinates, and peers.

	b.
	boss and peers.

	c.
	suppliers and customers.

	d.
	suppliers, workers, and customers.

	e.
	top, middle, and line managers.


ANS:
A
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

TYP:
Def

75.
A(n) ____ decision is based on the comparison of a company's wages with those of other companies.

	a.
	wage-structure

	b.
	wage-incentive

	c.
	wage-level

	d.
	equitable compensation

	e.
	compensation-valence


ANS:
C
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

76.
Wegmans has a reputation for paying higher than the prevailing wages in its industry. This is an example of a(n) ____ decision by its management.

	a.
	wage-structure

	b.
	wage-level

	c.
	wage-evaluation

	d.
	incentive

	e.
	benefits


ANS:
B
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

77.
Federal employees have fifteen pay grades, and within each grade they have ten steps. This is an example of

	a.
	prevailing wages.

	b.
	wage level.

	c.
	individual wages.

	d.
	wage structure.

	e.
	equitable compensation.


ANS:
D
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

78.
____ is used to determine the relative value of jobs within the organization.

	a.
	Job analysis

	b.
	Job evaluation

	c.
	The wage-level decision

	d.
	The individual wage decision

	e.
	Performance evaluation


ANS:
B
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

79.
The process for determining compensation requires employers to go through which process?

	a.
	Job evaluation, job analysis, and performance appraisal

	b.
	Wage-level, wage structure, and individual wage

	c.
	Wage-level, wage structure, individual wage and benefits level

	d.
	Job evaluation and job analysis

	e.
	Job evaluation, job analysis, and benefit level


ANS:
B
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
Comp

80.
Which of the following is NOT a factor that affects the wage-level decision?

	a.
	Industry averages

	b.
	Law of supply and demand

	c.
	What other employers in the area are paying

	d.
	Job evaluation

	e.
	Ability to pay


ANS:
D
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
Comp

81.
When staff and line managers together determine what aspects of a job they want to reward and how much those factors are worth, they are in the process of making a(n) ____ decision.

	a.
	wage-level

	b.
	wage-structure

	c.
	individual wage

	d.
	benefit level

	e.
	perquisite


ANS:
B
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

82.
Employers are required by law to provide their employees with ____, a benefit.

	a.
	employer-funded pension funds

	b.
	workers' compensation

	c.
	health insurance

	d.
	retraining for laid-off workers

	e.
	life insurance


ANS:
B
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Fact

83.
____ created an insurance program to provide income for workers while they recover from on-the-job injuries.

	a.
	The Employee Income Security Act

	b.
	The Fair Labor Standards Act

	c.
	The Equal Pay Act

	d.
	Workers' compensation

	e.
	The Occupational Safety and Health Act


ANS:
D
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

84.
Nika asked questions about the company's retirement plan during her job interview. She is discussing

	a.
	incentives.

	b.
	compensation.

	c.
	pay.

	d.
	benefits.

	e.
	wages.


ANS:
D
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

85.
Some employers have instituted a(n) ____. This allows employees, within limits, to choose a benefit package that best suits their own needs.

	a.
	incentive pay system

	b.
	performance appraisal system

	c.
	all-salary compensation system

	d.
	select plan

	e.
	cafeteria benefits plan


ANS:
E
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

86.
Allison and William both started working at the newspaper on the same day. Allison is single. William is married with six children. Allison's benefit package includes extra vacation time and stock options. William takes the minimum vacation time. His benefit package includes dental and medical coverage as well as tuition reimbursements. The newspaper for which Allison and William work obviously offers its employees a(n)

	a.
	open pay system.

	b.
	performance appraisal system.

	c.
	all-salary compensation system.

	d.
	control system.

	e.
	cafeteria benefits plan.


ANS:
E
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

87.
Who is responsible for overseeing the process of forming a local union?

	a.
	The management of the organization being unionized

	b.
	The Department of Labor

	c.
	The National Labor Relations Board

	d.
	The national union(s) involved

	e.
	Employees


ANS:
C
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

TYP:
Def

88.
Mentors within an organization can help map out what areas the individual is most interested in and help the person see what opportunities are available within the organization. This is part of ____.

	a.
	assessment centers

	b.
	performance appraisal synchronization

	c.
	job analyses

	d.
	career planning

	e.
	replacement charts


ANS:
D
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

TYP:
App

89.
What must happen first before employees can form a new local union?

	a.
	Employees must become interested in having a union.

	b.
	The NLRB must set up a vote.

	c.
	The Teamsters must make speeches.

	d.
	The employer must become interested in having a union.

	e.
	Thirty percent of employees must sign authorization cards.


ANS:
A
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

90.
The National Labor Relations Board will conduct a union certification election if

	a.
	50 percent of the firm's employees sign authorization cards.

	b.
	30 percent of the firm's employees sign authorization cards.

	c.
	30 percent of the potential bargaining unit sign authorization cards.

	d.
	30 percent of those voting support a union.

	e.
	60 percent of the firm's employees sign authorization cards.


ANS:
C
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

91.
____ is a discussion process between union and management that focuses on agreeing to a written contract that will cover all relevant aspects of their relationship.

	a.
	Negotiation

	b.
	The grievance procedure

	c.
	Collective bargaining

	d.
	Certification

	e.
	Arbitration


ANS:
C
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

92.
Guidelines for ____ are generally NOT contained in a labor agreement.

	a.
	wages

	b.
	grievance procedures

	c.
	benefits

	d.
	management's salary

	e.
	hours


ANS:
D
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
Comp

93.
During the term of a labor contract, disputes are resolved by

	a.
	the union, which goes on strike.

	b.
	the union members, who vote on the issues.

	c.
	the National Labor Relations Board.

	d.
	the grievance procedure.

	e.
	management.


ANS:
D
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

94.
A labor agreement is enforced by the

	a.
	grievance procedure.

	b.
	union rights clause.

	c.
	management rights clause.

	d.
	union security clause.

	e.
	strike/lockout clause.


ANS:
A
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

TYP:
Def

95.
When labor disputes go to final and binding arbitration, arbitrators

	a.
	evaluate the management point of view to determine if it is correct.

	b.
	listen to both sides of the case.

	c.
	listen to the union point of view to decide if they agree with it.

	d.
	are selected by the union.

	e.
	are selected by management.


ANS:
B
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
Comp

96.
Germany's biggest labor union, the I.G. Metall labor union, threatened to call a strike of industrial and electrical workers in the province of Baden-Wurttemberg, the heart of Germany's automotive and high-tech industries. A binding arbitrator, Hans-Jochen Vogel, was called in to settle the dispute. Like in the United States, this arbitrator

	a.
	would have been paid for by the government.

	b.
	rendered a decision that both parties had to obey.

	c.
	could suggest possible compromise but could do nothing to thwart the strike.

	d.
	would have been paid for by the employers.

	e.
	would have been selected by a majority of the union members.


ANS:
B
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
App

97.
GM and the United Auto Workers announced a tentative labor contract that gives workers $5,000 signing bonuses, a $3 an hour raise for entry-level workers, a buyout of highly paid skilled workers, and denies a cost-of-living adjustment. This was the conclusion of

	a.
	labor relations.

	b.
	grievance procedure.

	c.
	collective bargaining.

	d.
	certification.

	e.
	arbitration.


ANS:
C
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
App

98.
San Antonio employees in a multitude of occupations are fearful of losing their jobs due to the recent spate of corporate merger, acquisition, and consolidation activity in the region. Employees also are concerned that they are not being paid as highly as their counterparts in other cities. They are interested in joining a union to protect themselves. The next step is to

	a.
	hire a binding arbitrator to settle grievances.

	b.
	hold certification elections.

	c.
	hold a decertification election.

	d.
	engage in collective bargaining.

	e.
	collect employee signatures on authorization cards.


ANS:
E
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
App

99.
Teachers are represented by the American Federation of Teachers. It is an example of a(n)

	a.
	bargaining unit.

	b.
	decertified union group.

	c.
	subunion.

	d.
	employee coalition.

	e.
	labor alliance.


ANS:
A
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

TYP:
App

100.
____ are employees whose contributions to an organization are based on their mental abilities.

	a.
	Technical workers

	b.
	Knowledge workers

	c.
	Contributory employees

	d.
	Task-oriented employees

	e.
	Consultants


ANS:
C
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
App

101.
Advantages of contingent workers include all EXCEPT

	a.
	flexibility.

	b.
	wage reduction.

	c.
	benefit reduction.

	d.
	performance improvement.

	e.
	reduced need for career planning.


ANS:
D
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
Comp

102.
Top managers at GE are highly regarded by other companies. They are frequently approached by executive search firms with information about openings at other companies. The managers are examples of

	a.
	emergent workers.

	b.
	knowledge workers.

	c.
	contributory employees.

	d.
	task-oriented employees.

	e.
	job-oriented workers.


ANS:
B
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
App

103.
Spouses of military members used to complain they could not find jobs because they moved every three years with the military. But with the increased demand for ____, some organizations value the ability to make a relatively short-term commitment by hiring military spouses.

	a.
	temporary workers

	b.
	emergent workers

	c.
	task-oriented employees

	d.
	job-specific employees

	e.
	knowledge workers


ANS:
A
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
App

104.
When organizations rely on contingent workers, they need to be careful of all EXCEPT which of the following?

	a.
	They manage the flexibility carefully.

	b.
	They understand advantages and disadvantages of contingent workers.

	c.
	They document the real cost of contingent workers.

	d.
	They integrate contingent workers into their overall strategy.

	e.
	They pay above-average wage-level.


ANS:
E
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

TYP:
Comp
COMPLETION

1.
____________________ was once relegated to second-class status in many organizations, but its importance has grown dramatically in the last two decades.
ANS:


Human resource management

Personnel
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

2.
____________________ reflects the organization's investment in attracting, retaining, and motivating an effective workforce.
ANS:
Human capital
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

3.
The ____________________ establishes minimum wage and mandated overtime pay for work in excess of 40 hours per week.
ANS:
Fair Labor Standards Act
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

4.
The ____________________ spells out procedures by which employees can establish labor unions and requires organizations to bargain collectively with legally formed unions.
ANS:


National Labor Relations Act

Wagner Act
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

5.
____________________ is intentionally seeking and hiring employees from groups that are underrepresented in the organization.
ANS:
Affirmative action
PTS:
1
OBJ:
17.1
NAT:
AACSB: A

6.
A(n) ____________________ is made up of two parts. The job description lists the duties of a job, the job's working conditions, and the tools, materials, and equipment used to perform it. The job specification lists the skills, abilities, and other credentials needed to do the job.
ANS:
job analysis
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

7.
A(n) ____________________ is usually computerized and contains information on each employee's education, skills, work experience, and career aspirations.
ANS:


employee information system

skills inventory
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

8.
____________________ is the process of attracting people to apply for jobs in an organization.
ANS:
Recruiting
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

9.
Considering current employees as applicants for higher-level jobs in the organization is ____________________.
ANS:
internal recruiting
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

10.
A(n) ____________________ provides the applicant with a real picture of what performing the job that the organization is trying to fill would be like.
ANS:
realistic job preview
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

11.
When a test measures knowledge, skills, or activities used in a job, the test will have ____________________ validity for that job.
ANS:
content
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

12.
When you use statistical procedures to determine the validity of a selection device, you are determining ____________________ validity.
ANS:
predictive
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

13.
____________________ tests were once popular, but the use of them is now declining.
ANS:
Polygraph
PTS:
1
OBJ:
17.2
NAT:
AACSB: A

14.
In human resource management terminology, presenting a group of managers with a course on leadership would be called ____________________.
ANS:
development
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

15.
____________________ is a formal assessment of how well employees are doing their jobs
ANS:
Performance appraisal
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

16.
____________________ is allowing the assessment of an employee on one dimension to "spread" to ratings of that employee on other dimensions.
ANS:
Halo error
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

17.
A performance appraisal system in which managers are evaluated by everyone around themtheir boss, their peers, and their subordinatesis called ____________________.
ANS:
360-degree feedback
PTS:
1
OBJ:
17.3
NAT:
AACSB: A

18.
____________________ is the financial remuneration given by the organization to its employees in exchange for their work.
ANS:
Compensation
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

19.
The ____________________ decision is made through job evaluation.
ANS:
wage-structure
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

20.
Sick days and insurance are ____________________.
ANS:
benefits
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

21.
When employees are provided a basic benefit package and then allowed, within certain cost limits, to structure the rest of the package to suit their individual needs, the company is using a(n) ____________________ benefit plan.
ANS:
cafeteria
PTS:
1
OBJ:
17.4
NAT:
AACSB: A

22.
____________________ membership began to steadily decline in the mid-1950s and is now about 12%.
ANS:
Union
PTS:
1
OBJ:
17.5
NAT:
AACSB: A

23.
____________________ often like to work independently and tend to identify more strongly with their profession than with any company.
ANS:
Knowledge workers
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

24.
A(n) ____________________ is a person who works for an organization on something other than a permanent or full-time basis.
ANS:
contingent
PTS:
1
OBJ:
17.6
NAT:
AACSB: A

25.
____________________ are employees whose contributions to an organization are based on what they know.
ANS:
Knowledge workers
PTS:
1
OBJ:
17.6
NAT:
AACSB: A
MATCHING
Match the following statements about temporary workers and employers with the term that best identifies the action. You may use a response once, more than once, or not at all.

	a.
	The Occupational Safety and Health Act

	b.
	Benefits

	c.
	Compensation

	d.
	Training

	e.
	Interview

	f.
	Recruiting

	g.
	Skills Inventory

	h.
	Employment-at-will



1.
Instead of firing an employee, which courts have been limiting the ability of organizations to do, the organization can let the contract expire

2.
Temp agencies need to keep a list of employee skills, experience and career aspirations

3.
Organizations have to attract individuals to apply for jobs that are open

4.
Some temporary workers, people who work well, but make only ok first impressions, can still get jobs

5.
Agencies for temporary workers may absorb the cost of creating skilled workers

6.
Temporary workers are cheaper to employ

7.
Temporary workers' injuries tend to go untreated

1.
ANS:
H
PTS:
1

2.
ANS:
G
PTS:
1

3.
ANS:
F
PTS:
1

4.
ANS:
E
PTS:
1

5.
ANS:
D
PTS:
1

6.
ANS:
C
PTS:
1

7.
ANS:
A
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Realistic job preview

	b.
	Validation

	c.
	Application blanks

	d.
	Tests

	e.
	Interviews



8.
They should not contain questions about areas not related to the job, such as gender, religion, or national origin

9.
All candidates should be given the same directions, time, and environment

10.
The process of determining the predictive value of information

11.
Biases inherent in the way people perceive and judge others at a first meeting affect subsequent evaluations

12.
Provides the applicant with a real picture of the job

8.
ANS:
C
PTS:
1

9.
ANS:
D
PTS:
1

10.
ANS:
B
PTS:
1

11.
ANS:
E
PTS:
1

12.
ANS:
A
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Binding arbitration

	b.
	Collective bargaining

	c.
	Grievance procedure

	d.
	Show of interest

	e.
	Certification election



13.
First step in forming a union

14.
Last step in grievance resolution

15.
How a labor contract is enforced or administered

16.
How a labor contract comes into being

13.
ANS:
D
PTS:
1

14.
ANS:
A
PTS:
1

15.
ANS:
C
PTS:
1

16.
ANS:
B
PTS:
1
Special Exercises

Match the following statements about the National Labor Relations Board, Boeing, and politics. You may use a response once, more than once, or not at all.

	a.
	Benefits Labor

	b.
	Benefits Management

	c.
	Benefits both Labor and Management

	d.
	Benefits neither Labor nor Management



17.
The NLRB has important work to do. It investigates unfair labor practices and monitors union elections.

18.
The Obama administration stacked the NLRB board in favor of unions.

19.
Republicans vowed to block any new appointments.

20.
The NLRB took the step of requiring private-sector employers to post notices that inform workers of their right to unionize.

21.
Boeing executives wanted to open a new facility in South Carolina, a right-to-work state, which was less prone to strikes than Boeing's manufacturing hub in union-friendly Washington state.

22.
The NLRB filed a lawsuit to stop the new South Carolina plant from operating.

23.
Boeing hired more than 1,000 workers in South Carolina, and also operated 787-related facilities around the plant with thousands of additional employees.

24.
The 787 Dreamliner was already running three years behind schedule.

25.
An additional government-imposed delay would help Boeing's European rival Airbus.

26.
The House of Representatives voted to limit the NLRB's expansion of power to tell companies where they can operate.

17.
ANS:
C
PTS:
1
TOP:
Special Exercises


18.
ANS:
A
PTS:
1
TOP:
Special Exercises


19.
ANS:
B
PTS:
1
TOP:
Special Exercises


20.
ANS:
A
PTS:
1
TOP:
Special Exercises


21.
ANS:
B
PTS:
1
TOP:
Special Exercises


22.
ANS:
A
PTS:
1
TOP:
Special Exercises


23.
ANS:
B
PTS:
1
TOP:
Special Exercises


24.
ANS:
D
PTS:
1
TOP:
Special Exercises


25.
ANS:
D
PTS:
1
TOP:
Special Exercises


26.
ANS:
B
PTS:
1
TOP:
Special Exercises

ESSAY

1.
Briefly define and describe human resource management. Include trends over the past 20 to 25 years and some of the reasons for those trends.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

2.
List and briefly describe the provisions of the federal laws or directives dealing with equal employment that were covered in the text.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

3.
Describe an example of a company or industry where human resource capital is very important and one where it is not so important.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

4.
List the federal laws dealing with compensation and benefits, and briefly describe the provisions of each of them.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

5.
Compare and contrast the Wagner Act and the Taft-Harley Act.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

6.
The Equal Employment Opportunity Commission protects many groups. Who are they?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.1
NAT:
AACSB: R

7.
Briefly describe the purposes of job analysis and the two documents that often result from it.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

8.
List the steps in the human resource planning process. You need not go into detail; the broad steps are sufficient. You may want to use a diagram to clarify your answer.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

9.
What is your dream job? What attracts you to the job? How will a recruiter know you are qualified for that job?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

10.
Recruiters check applicant's Facebook pages. If you were a recruiter, what would you look for on Facebook that would support or diminish an applicant?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.2
NAT:
AACSB: R

11.
Discuss the performance appraisal process and include a description of two specific performance appraisal techniques.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

12.
What is the difference between training and developing? What are some methods companies use to teach employees?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

13.
Briefly explain what is meant by objective and judgmental performance evaluation. Discuss two methods of judgmental evaluation. Give the pros and cons of each method.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.3
NAT:
AACSB: R

14.
Do you want to work as a manager in an organization that used a 360-degree evaluation or one that allows only the boss to evaluate you? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

15.
Managers typically work more than forty hours per week. Would you rather be paid a wage or salary? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

16.
Why do some executives receive more than 50% of their compensation in bonuses? Would you like that?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.4
NAT:
AACSB: R

17.
Describe how unions are formed.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

18.
Imagine you have been hired to teach one semester as an adjunct professor at your college or university. You have the choice to join the adjunct professor's union. Would you join? Why or why not?
ANS:


Answer not provided.
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

19.
An employee represented by the Teamsters Union feels that she has been unfairly disciplined based on the labor agreement her union has with her employer. Explain the steps she can take to get this situation resolved. If the union and management fail to resolve the issue, describe the procedure to be followed.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.5
NAT:
AACSB: R

20.
Comment on the following statement by Peter Drucker: "In the case of knowledge workers, the employer no longer owns the tools of production. Today it is the employee that owns them."
ANS:


Students should realize that especially for Internet companies, the product is only as good as what the knowledge workers can manufacture from their knowledge, previous experiences, and talents in thinking "outside the box."
PTS:
1
OBJ:
17.6
NAT:
AACSB: R

21.
List four techniques that managers can use to make the most effective use of contingent and temporary workers.
ANS:


Answer not provided.
PTS:
1
OBJ:
17.6
NAT:
AACSB: R
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